
    Name:              Date: 

 
No. Problem Answer Key 

1.  
Simplify:    

𝟐𝟒𝒙𝟑𝒚𝟓

𝟏𝟔𝒙𝟒𝒚𝟐
 

 

 

2.  Simplify:  
𝟓

𝟓𝒙−𝟏𝟎
 

 

 

3.  Simplify:  
𝒂−𝒃

𝒃−𝒂
 

 
 

 

4.  
Simplify: 

𝒙𝟐−𝟗

𝒙−𝟑
 

 
 

 

5.  Simplify:     
𝟐𝒙−𝟏𝟎

𝟑𝒙−𝟔
 

 

 

6.  
Simplify:   

𝒙𝟐−𝟗

𝒙𝟐+𝟓𝒙+𝟔
 

 

 

7.  
Simplify:    

𝒚𝟐−𝟓𝒚−𝟔

𝒚𝟐−𝟏
 

 

 

8.  
Simplify:   

𝒙𝟐−𝒙−𝟐𝟎

𝟑𝒙−𝟏𝟓
  

9.  
Simplify:    

𝟕+𝟐𝟎𝒙−𝟑𝒙𝟐

𝟐𝒙𝟐−𝟏𝟏𝒙−𝟐𝟏
 

 

10.  
Simplify:   

𝟐𝒂𝟑−𝟏𝟔

𝟒𝒂𝟐−𝟏𝟐𝒂+𝟖
 

 

 

11.  
Simplify:   

𝟐𝒎𝟑−𝟐𝒎𝟐−𝟏𝟐𝒎

𝒎𝟐−𝟓𝒎+𝟔
 

 

12.  
Simplify:    

𝒙𝟐−𝟑𝒙+𝒂𝒙−𝟑𝒂

𝒙𝟐−𝒂𝒙−𝟑𝒙+𝟑𝒂
 

 

13.  
Simplify:    

𝟏𝟐𝒚−𝟐𝒙𝒚−𝟐𝒙𝟐𝒚

𝟔𝒚−𝟒𝒙𝒚−𝟐𝒙𝟐𝒚 
 

 

 

   



    Name:              Date: 

 
No. Problem Answer Key 

1.  
Simplify:    

𝟐𝟒𝒙𝟑𝒚𝟓

𝟏𝟔𝒙𝟒𝒚𝟐
 

 

𝟑𝒚𝟑

𝟐𝒙
 

2.  Simplify:  
𝟓

𝟓𝒙−𝟏𝟎
 

 

𝟏

𝒙 − 𝟐
 

3.  Simplify:  
𝒂−𝒃

𝒃−𝒂
 

 
 

−𝟏 

4.  
Simplify: 

𝒙𝟐−𝟗

𝒙−𝟑
 

 
 

𝒙 + 𝟑 

5.  Simplify:     
𝟐𝒙−𝟏𝟎

𝟑𝒙−𝟔
 

 

𝟐𝒙 − 𝟏𝟎

𝟑𝒙 − 𝟔
 

6.  
Simplify:   

𝒙𝟐−𝟗

𝒙𝟐+𝟓𝒙+𝟔
 

 

𝒙 − 𝟑

𝒙 + 𝟐
 

7.  
Simplify:    

𝒚𝟐−𝟓𝒚−𝟔

𝒚𝟐−𝟏
 

 

𝒚 − 𝟔

𝒚 − 𝟏
 

8.  
Simplify:   

𝒙𝟐−𝒙−𝟐𝟎

𝟑𝒙−𝟏𝟓
 

𝒙 + 𝟒

𝟑
 

9.  
Simplify:    

𝟕+𝟐𝟎𝒙−𝟑𝒙𝟐

𝟐𝒙𝟐−𝟏𝟏𝒙−𝟐𝟏
 −  

𝟑𝒙 + 𝟏

𝟐𝒙 + 𝟑
 

10.  
Simplify:   

𝟐𝒂𝟑−𝟏𝟔

𝟒𝒂𝟐−𝟏𝟐𝒂+𝟖
 

 

𝒂𝟐 + 𝟐𝒂 + 𝟒

𝟐(𝒂 − 𝟏)
 

11.  
Simplify:   

𝟐𝒎𝟑−𝟐𝒎𝟐−𝟏𝟐𝒎

𝒎𝟐−𝟓𝒎+𝟔
 

𝟐𝒎(𝒎 + 𝟐)

𝒎 − 𝟐
 

12.  
Simplify:    

𝒙𝟐−𝟑𝒙+𝒂𝒙−𝟑𝒂

𝒙𝟐−𝒂𝒙−𝟑𝒙+𝟑𝒂
 

𝒙 + 𝒂

𝒙 − 𝒂
 

13.  
Simplify:    

𝟏𝟐𝒚−𝟐𝒙𝒚−𝟐𝒙𝟐𝒚

𝟔𝒚−𝟒𝒙𝒚−𝟐𝒙𝟐𝒚 
 

 

𝟐 − 𝒙

𝟏 − 𝒙
 

 


